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¼¼¼¼oLrqoLrqoLrqoLrqfu"B iz'u½fu"B iz'u½fu"B iz'u½fu"B iz'u½    

(Objective Questions) 

(Academic/Open) 

[ fgUnh ,oa vaxzsth ek/;e ] 

[ Hindi and English Medium ] 

(Only for Fresh/Re-appear Candidates) 

•••• Ñi;k tk¡p dj ysa fd HkkxHkkxHkkxHkkx–II ds bl iz'u-i= esa eqfnzr i`"B 8 rFkk iz'u 40 gSaA 
 Please make sure that the printed pages in this question paper of Part-II are 8 in 

number and it contains 40 questions. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 
 Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa lEcU/k esa lEcU/k esa lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAdksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAdksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAdksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA 

 Before answering the question, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

General Instructions : 

 (i) lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    

  All questions are compulsory. 
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    (ii) lghlghlghlgh mÙkj viuh mÙkj&iqfLrdk eas fyf[k,A 
        Write correct answer in your answer-book. 

[ bfrgkl bfrgkl bfrgkl bfrgkl ] 

   [ HISTORY ] [ M. M. : 05 

1. fo;uk dkaxzsl lEesyu fdl o"kZ gqvk \ 1 

(A) 1815 (B) 1816 
(C) 1817 (D) 1818 
Vienna Congress Convention was held in which year ? 

(A) 1815 (B) 1816 
(C) 1817 (D) 1818 

2. Hkkjr dk igyk lkIrkfgd lekpkj&i= dkSu&lk Fkk \ 1 

(A) n fgUnw (B) caxky xtV 
(C) lekpkj pafnzdk (D) ckWEcs lekpkj 
Which was the first weekly newspaper of India ? 

(A) The Hindu (B) Bengal Gazatte 

(C) Samachar Chandrika (D) Bombay Samachar 

3. iwuk iSDV fdlds e/; gqvk Fkk \ 1 

(A) tokgjyky usg: vkSj egkRek xka/kh (B) lqHkk"k pUnz cksl vkSj egkRek xka/kh 
(C) MkW0 ch0 vkj0 vEcsMdj vkSj egkRek xka/kh (D) buesa ls dksbZ ugha 
Poona Pact was between whom ? 

(A) Jawaharlal Nehru and Mahatma Gandhi 

(B) Subhash Chandra Bose and Mahatma Gandhi 

(C) Dr. B. R. Ambedkar and Mahatma Gandhi 

(D) None of these  

4. ^xqykefxjh* iqLrd ds ys[kd ------------- gSaA ¼T;ksfrck Qqys@egkRek xka/kh½  1 

The author of the book 'Gulamgiri' is …………… . 

(Jyotiba Phule/Mahatma Gandhi) 

5. fujadq'kokn ls vkidk D;k vfHkizk; gS \ 1 

What do you mean by Absolutism ? 
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[ jktuhfr foKku jktuhfr foKku jktuhfr foKku jktuhfr foKku ] 
   [ POLITICAL SCIENCE ] [ M. M. : 15 

6. fuEufyf[kr esa ls fdl jk"Vª esa cgqla[;dokn dk vuqlj.k fd;k tkrk gS \ 1 

(A) Jhyadk  (B) Hkkjr 
(C) usiky  (D) HkwVku 
In which nation majoritarianism is followed ? 

(A) Sri Lanka (B) India 

(C) Nepal  (D) Bhutan 

7. csfYt;e esa fdrus izfr'kr yksxksa }kjk Mp Hkk"kk cksyh tkrh gS \ 1 

(A) 40%  (B) 60% 
(C) 59%  (D) 41% 
How many percentage of people in Belgium speak the Dutch language ? 

(A) 40%  (B) 60% 
(C) 59%  (D) 41% 

8. Hkkjrh; lafo/kku }kjk fgUnh Hkk"kk dks dSlk ntkZ iznku fd;k x;k gS \ 1 

(A) jk"Vªh; Hkk"kk (B) vkf/kdkfjd Hkk"kk 
(C) cgqla[;d Hkk"kk (D) buesa ls dksbZ ugha 
Which status is given to Hindi language by the Indian Constitution ? 

(A) National Language (B) Official Language 

(C) Majority Language  (D) None of these 

9. fuEufyf[kr esa dkSu-lk fo"k; la?k lwph dk ughaughaughaugha  gS \ 1 

(A) fons'kh ekeys (B) eqnzk 
(C) cSafdax  (D) Ñf"k 
Which of the following is not a subject of the Union List ? 

(A) Foreign (B) Currency 

(C) Banking (D) Agriculture  

10. Hkkjr esa efgykvksa ds fy, 'kklu ds dkSu&ls Lrj ij lhVksa dks vkjf{kr fd;k x;k gS \ 1 

(A) jkT; lHkk (B) LFkkuh; ljdkjh fudk; 
(C) yksd lHkk (D) fo/kku lHkk 
At which level of government in India the seats are reserved for women ? 

(A) Rajya Sabha (B) Local Government body 

(C) Lok Sabha (D) Vidhan Sabha 
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11. Hkkjrh; turk ikVhZ dh LFkkiuk dc gqbZ \ 1 

(A) 1980 (B) 1975 

(C) 1970 (D) 1990 

When was the Bhartiya Janata Party established ? 

(A) 1980 (B) 1975 

(C) 1970 (D) 1990 

12. ^f'ko lsuk* fdl jkT; dk jktuhfrd ny gS \ 1 

(A) gfj;k.kk (B) iatkc 
(C) egkjk"Vª (D) dsjy 
'Shiv Sena' is the political party of which State ? 

(A) Haryana (B) Punjab 

(C) Maharashtra (D) Kerala 

13. ml ny dks D;k dgrs gSa ftls yksd lHkk pqukoksa esa 6% er vFkok 4 lhVsa izkIr gqbZ gksa \ 1 

(A) {ks=h; ny (B) jk"Vªh; ny 
(C) xBca/ku ny (D) buesa ls dksbZ ugha 
What is the party that has got six percent vote or four seats in the Lok Sabha 
elections ? 

(A) Regional Party (B) National Party 

(C) Alliance Party (D) None of these 

14. ,d iztkrkaf=d ljdkj fdlds izfr mÙkjnk;h gksrh gS \ 1 

(A) jk"Vªifr (B) lsuk 
(C) turk  (D) jkT;iky 
A Democratic Government is accountable to whom ? 

(A) President (B) Forces 

(C) Public (D) Governor 

15. ,d ny dks NksM+dj nwljs ny esa pys tkus dks D;k dgrs gSa \ 1 

(A) LFkkukarj.k (B) ny NksM+uk 
(C) ny&cny (D) buesa ls dksbZ ugha 
Leaving one party and moving to another party is called : 

(A) Transfer (B) Leave the party 

(C) Defection (D) None of these 

16. yksdrkaf=d O;oLFkk ckdh lHkh 'kklu O;oLFkkvksa ls csgrj gksrh gSA ¼lR;@vlR;½¼lR;@vlR;½¼lR;@vlR;½¼lR;@vlR;½  1 

Democratic system is better than other form of Government. (True/False) 
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17. pquko yM+us vkSj ljdkj esa lÙkk laHkkyus ds fy, ,dtqV gksus okys yksxksa ds lewg dks ------------- 
dgk tkrk gSA ¼jktuhfrd ny@ncko lewg½     1 

A group of people who come together to contest election and hold power in the 
Government is called a …………… .       (Political party/Pressure group) 

18. LFkkuh; Lo'kklu dh bdkb;ksa dk dk;Zdky --------------- o"kZ dk gksrk gSA ¼N% o"kZ@ik¡p o"kZ½  1 

Local Self Government bodies have a tenure of …………… years. (Six/Five) 

19. x`g ;q) dk D;k vFkZ gS \ 1 

What is the meaning of Civil War ? 

20. xzke iapk;r dk lnL; cuus ds fy, U;wure vk;q D;k gS \ 1 

What is the minimum age to become a member of the Gram Panchayat ? 

[ HkwxksyHkwxksyHkwxksyHkwxksy    ] 

   [ GEOGRAPHY ] [ M. M. : 15 

21. Tokjh; ÅtkZ fdl izdkj dk lalk/ku gS \ 1 

(A) uohdj.kh; (B) vuohdj.kh; 
(C) ekuoÑr (D) tSo 
Which type of resource is tidal energy ? 

(A) Renewable (B) Unrenewable 

(C) Man Made (D) Biotic 

22. Hkkjr dk mÙkjh eSnku fdl izdkj dh e`nk ls cuk gS \ 1 

(A) dkyh feêh (B) tyks<+ feêh 
(C) ysVsjkbV feêh (D) e#LFkyh; feêh 
The Northern plain of India is made by which soil ? 

(A) Black soil (B) Alluvial soil 

(C) Laterite soil (D) Desert soil 

23. Hkkjr ds dqy LFkyh; {ks= dk fdrus izfr'kr Hkkx eSnkuh gS \ 1 

(A) 30%  (B) 20% 
(C) 35%  (D) 43% 
How many percentage of the total terrestrial area of India is plains ? 

(A) 30%  (B) 20% 
(C) 35%  (D) 43% 
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24. fuEufyf[kr esa ls dkSu&ls jkT; esa lh<+huqek Ñf"k dh tkrh gS \ 1 

(A) fgekpy izns'k (B) gfj;k.kk 
(C) jktLFkku (D) iatkc 
In which of the following states, step (Terracing) farming is done ? 

(A) Himachal Pradesh (B) Haryana 

(C) Rajasthan (D) Punjab 

25. Hkkjr esa dkSu&ls {ks= esa xsgw¡ dk mRiknu lcls T;knk gksrk gS \ 1 

(A) e/; Hkkjr (B) if'peh ?kkV 
(C) xaxk&lryqt dk eSnku (D) iwohZ ?kkV 
Which region of India is produced most production of wheat ? 

(A) Central India (B) Western Ghat 

(C) Ganga-Sutlej plain (D) Eastern Ghat 

26. oL= m|ksx dh igyh QSDVªh dgk¡ LFkkfir dh xbZ \ 1 

(A) psUubZ  (B) eqEcbZ 
(C) fnYyh  (D) dydÙkk 
Where was the first textile factory was established ? 

(A) Chennai (B) Mumbai 

(C) Delhi (D) Calcutta  

27. Hkkjr ds fdl {ks= esa lokZf/kd ykSg&bLikr m|ksx LFkkfir fd, x, gSa \ 1 

(A) ekyok iBkj (B) NksVk ukxiqj iBkj 
(C) mÙkj&if'peh {ks= (D) if'peh ?kkV 
In the which region of India, Iron and Steel industries are established ? 

(A) Malwa Plateau (B) Chhota Nagpur Plateau 

(C) North-West Region (D) Western Ghat 

28. oL= m|ksx ,d mnkgj.k gS % 1 

(A) Ñf"k vk/kkfjr m|ksx (B) lkeqnkf;d {ks= 
(C) [kfut vk/kkfjr m|ksx (D) buesa ls dksbZ ugha 
Textile industry is an example of : 

(A) Agro based industry (B) Cooperative sector 

(C) Mineral based industry (D) None of these 
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29. lhek lM+d laxBu dk xBu dc gqvk \ 1 

(A) 1990 (B) 1980 
(C) 1960 (D) 1950 
When was the Border Road Organisation established ? 

(A) 1990 (B) 1980 
(C) 1960 (D) 1950 

30. Hkkjr dk lcls cM+k canjxkg dkSu&lk gS \ 1 

(A) dkaMyk  (B) eqacbZ 
(C) fo'kk[kkiV~ue (D) dksphu 
Which is the biggest Port of India ? 

(A) Kandla (B) Mumbai 

(C) Visakhapatnam (D) Kochin 

31. ifjogu dk lcls rhoz ek/;e dkSu&lk gS \ 1 

(A) jsyos  (B) ty ifjogu 
(C) lM+d ifjogu (D) ok;q ifjogu 
Which is the fastest mean of transport ? 

(A) Railways (B) Waterways 

(C) Roadways (D) Airways 

32. taxyksa dks dkVdj o tykdj Ñf"k djuk ----------------- dk ,d mnkgj.k gSA 1 

¼>we Ñf"k@okf.kT; Ñf"k½ 

Slash and burn agriculture is an example of ………………. . 

(Shifting agriculture/Commercial agriculture) 

33. ifjogu dk lcls lLrk ek/;e --------------- gSA ¼ikbi ykbu@lM+d ifjogu½  1 

Cheapest means of transport is ……………. .  (Pipe Line/Road Transport) 

34. gfjr ØkfUr dk D;k vFkZ gS \  1 

What is the meaning of Green Revolution ? 

35. vk/kkjHkwr m|ksx dks ifjHkkf"kr djsaA 1 

Define the Basic Industry. 
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[ vFkZ'kkL= vFkZ'kkL= vFkZ'kkL= vFkZ'kkL= ] 

   [ ECONOMICS ] [ M. M. : 05 

36. -------------- ,d izeq[k dkjd jgk gS] ftlus oS'ohdj.k dh izfØ;k dks c<+k;k gSA 1 

(A) iztkra= (B) jktra= 
(C) lektokn  (D) rduhd 
…………….. has been one of the major factor that has stimulated the 
globalization process. 

(A) Democracy (B) Monarchy 

(C) Socialism (D) Technology 

37. 2006 ds vuqlkj fo'o O;kikj laxBu ds fdrus ns'k lnL; gSa \ 1 

(A) 100  (B) 120 

(C) 149  (D) 200 
According to 2006, how many countries were the member of World Trade 
Organization ? 

(A) 100  (B) 120 

(C) 149  (D) 200 

38. izkÑfrd lk/kuksa dk nksgu djds ,d eky dk mRiknu djuk ---------------dh ,d xfrfof/k gSA 1 

(A) izkFkfed {ks= (B) f}rh;d {ks= 
(C) r`rh;d {ks= (D) buesa ls dksbZ ugha 
Production of a goods by exploiting the natural resources, in an activity of the 
…………… sector. 

(A) Primary (B) Secondary 

(C) Tertiary (D) None of these 

39. izfr O;fDr vk; dks ---------------- ds uke ls Hkh tkuk tkrk gSA ¼dqy vk;@vkSlr vk;½  1 

Per capita income is also known as …………….. . (Total income/Average income) 

40. oLrq fofue; iz.kkyh ls D;k vfHkizk; gS \ 1 

What is the meaning of Barter System ? 

S 


